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Multiplication Tables

i 3 -
. /. 3x 1= 3 o
.'.:f-i‘_é“i} 2 x 1= 2 3x 2= 6 0
. s+ 1B 2 x 2 = 4 3 x 3= 9 4 x 2= 8
2 e 2x3=6 3x4= 12 SN A
2 x 4= 8 3 x5 =15 4 x 4 = 16
b 2 x5 =10 3 x6 = 18 4 x 5= 20
2 x 6= 12 3 x 7 = 2] 4 x 6 = 24
2 x 7= 14 3 x 8= 24 4 x 7 = 28
@G 2 x 8 =16 3 x 9= 27 4 x 8 = 32
: 2 x 9 =18 3 x10= 30 4"9f36
_'*’.1‘.‘ 2 x10= 20 3 x 11 = 33 4"]0: 40
L ety 2x= 22 3 x12= 36 AR
@] 2x12= 24 4 x12= 48
> -
'll:.l..'_lI
/| 5x1= 5 6 x 1 = 1= 7 8x1= 8
o / B x 2 =10 6 x 2 = x 2 = 14 8 x 2 =16
B x 3 = 15 6 x 3 = x 3 = 92 8 x 3= 24
5 x 4 = 20 6 x 4 = x 4 = 928 8 x 4 = 32
5 x 5 = 25 6 x b = x 5 = 35 8 x b= 40
5x 6 = 30 6 x6 = el e 8 x 6 = 48
.| 5x7= 35 6 x 7 = x 7 = 49 8 x 7 = 56
5 x 8 = 40 6 x 8 = x 8 = BB 8 x 8 = 64
5 x 9 = 45 6 x 9 = x Q= 63 8 x 9 = 72
5 x10= 50 6 x10 = x10 = 70 8 x10= 80
5 x 1] = 55 6 x 11 = x 1 = 77 8 x 11 = 88
5 x12 = 60 : 6 x 12 = x12 = 84 8 x12= 96
: 10
9 x | = 10x 1 = 10 12 x 1 =
o) — 10x 2 = 20 Mx1= T 12x 2 =
e o 10x 3 = 30 N x2= 22 12 x 3 =
/ 9 x 4 = 10 x 4 = 40 1N x 3= 33 12 x 4 =
9 x 5 = 10 x b = B0 11 x 4 = 44 12 x 5 =
} 9 x 6 = 10x 6 = 60 11 x 5 = bbb 12 x 6 =
) = 10x 7 = 70 N x 6= 66 12x 7 =
9 x 8 = 10x 8 = 80 Nnx7= 77 12 x 8 =
5o = 10x 9 = 90 1 x 8= 88 12 x 9 = 108
S o) = VERER]Y N x9= 99 12 x 10 = 120
9 x 1] = 10 x 11 = 110 1M1 x10= 110 12 x 11 = 132
9 x 12 = 10 x 12 = 120 1M x 11 = 121 12 x 12 = 144 /
. 1M1 x12 = 132 . »"
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2 Xl a=i D 3. x = dax . = ]
2 x. 2 = 4 3x 2 =16 4 x 2 = 8
2 %3 = 6 3 %X 3u= 29 4 x 3 = 12
2 x 4 = 8 Qg4 = 12 4 x 4 = 16
2 x5 =10 3 x b =15 4 x 5 = 20
2 x 6 = 12 3 x 6 = 18 4 x 6 = 24
2 x 7 = 14 3 x /7 =2] 4 x 7 = 28
2 x 8 .= b 3 x 8 = 24 4 x 8 = 32
2 x 9 = 18 3 x 9 = 27 4 x 9 = 36
2 x10 = 20 3 x10 = 30 4 x 10 = 40
2.x 11 = 22 3 x [IF=" 338 4 x 11 = 44
2 x 12 = 24 3 x 12 = 36 4 x 12 = 48
5 i 8
B x 1 = 5 6 x 1 = 6 T e R 8 x 1 = 8
b x 2 =10 i 2 = 12 7 x 2 = 14 8 x 2 = 16
5.x 3 = 15 6 x 3 = 18 7 x 3 =4 2] 8 x 3. =24
5 x 4 = 20 6 x 4 = 24 7 x 4 = 28 8 x 4 = 32
5 x b = 25 6 x b = 30 7 x b =35 8 x b = 40
£ N 5. x.6 =930 6 x 6 = 36 7 x 6 =W 8 x 6 = 48
5 x 7 = 35 6 x 7 = 42 7 x 7 = 49 8 x 7 = b6
5 x 8 = 40 6 x 8 = 48 /] x 8 = 56 8 x 8 = 64
5 x 9 = 45 6 x 9 = b4 7 % Ge=063 8 x 9 =D
5 x 10 = 50 6 x 10 = 60 7 x10 = 70 8 x 10 = 80
5 x 11 = bb 6 x 11 = 66 7 x N = 77 8 x 11 = 88
5 x 12 = 60 b x 12 = 72 7 x 12 = 84 & x 12 = 96
9x 1 =9 I0x 1 = 10 Mmx 1 =1 12x 1 = 12
9 x 2 = 18 X 10%.2 = 20 1M/ 2 = 22 12 x 2 = 24
oex 3 = 27 10 x 3 = 30 11 X3 = 33 12.%x 3 = 86
9 x 4 = 36 10 x 4 = 40 11 x 4 = 44 12 x 4 = 48
9 x 5 =45 10x 5 = 50 N x 5 = B 12 x 5 = 60
9><6=54F10x6=60 11 x 6 = 66 2 x 6 = 72
9 x 7% 05 a 10x 7 =70 N.x 7.= 77 | 12 x 7 = 84
9 x 8 = 72 10 x 8 = 80 11 x 8 = 88 12 x 8 = 96
9 x 9 .=a 81 10x 9 = 90 i 11 x 9 = 99 | 12 x 9 =108
9 x 10 = 90 10x10 =100 | 11 x10 =10 12 x 10 = 120
9 x 11 = 99 g\ 10 xT 1= 110 X = 121" I 12 % |1 = |32
9 x12 =108 |% 10x12 =120 [ x 12 = 132 12 x 12 = 144
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